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’ 100kN/mM%Z#B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B 2% = -~ = -|3m%#BZ 3 =~ = = =
Zzh st 1.00{0.00 ~ 6.79 85.80| #hLi4t 000 ~ 6.79] 1.80 9.08 ZnLst 1.00f 500 ~ 8.30 85.80| #nlist | 500 ~ 8.30( 1.80 9.08
9 100kN/mM#%#BZ % 1.00({0.00 ~ 1.80 127.68|3m%EB 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 11.23 ~ 17.73 127.68|3m%EEZ D =l ~ -
Zzhst 1.00{1.80 ~ 959 100.00| #h a4t |0.00 ~ 9.59| 259 13.09 ZznLst 1.00f 500 ~ 11.23 100.00] #hkist | 5.00 ~ 17.73| 2.59 13.09
3 100kN/mM#E#BZ % 1.00({0.00 ~ 1.28 119.46|3m%E{B 25 = ~ - = —| 100kN/mM%#B 2% 1.00( 12.85 ~ 17.88 119.46|3m%EEZ 5D =l ~ - - -
Zzhst 1.00({1.28 ~ 9.07 100.00| #hdst |0.00 ~ 9.07| 2.77 14.00 ZnLst 1.00f 500 ~ 1285 100.00] #hist | 5.00 ~ 17.88] 2.77 14.00
4 100kN/m#E#BZ % 1.00({0.00 ~ 1.39 121.15|3m% 25 = ~ - = —| 100kN/mM%#B 2% 1.00 1247 ~ 17.79 121.15|3m%B 25 =l ~ - - -
Zzhst 1.00{1.39 ~ 9.8 100.00] #hkist 000 ~ 9.18| 2.74 13.83 ZznLst 1.00f 500 ~ 1247 100.00] #hist | 5.00 ~ 17.79| 2.74 13.83
5 100kN/mM%#B % % ~ —-|3mZzBRB| - ~ - -| 100kN/mM%#B 2% ~ = -|3m%i#BZ % -~ =
Zzh st 1.00{0.00 ~ 1.00 16.31] Zxklst [0.00 ~ 1.00] 2.97 15.01 ZznLst 1.00f 500 ~ 5.00 16.31] ZxLklst | 500 ~ 5.00| 2.97 15.01
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
Zzhst ~ Zzh st ~ Zh st ~ zhst ~
100kN/mM%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%Z#B % % ~ ImEHBZRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
zh st ~ zh st ~ Zh st ~ zhst ~
100kN/M%Z#8 % % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%Z#B % % ~ ImEHBZRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/M%Z#8 % % ~ ImEHBRD ~ 100kN/m%Z#B% % ~ ImEEZD ~
Zhst ~ zh st ~ Zh st ~ zh st ~
100kN/m%#BZ % ~ ImEFEZD ~ 100kN/mM%i#8 % % ~ ImEFEZD ~
Zhst ~ ZhLs ~ Zh s ~ TS ~
100kN/m%#BZ % ~ ImEFEZD ~ 100kN/mM%i#8 % % ~ ImEFEZD ~
Zhst ~ ZhLLs ~ Zh s ~ TS ~
100kN/m%E#BZ % ~ ImEFERD ~ 100kN/mM%i#8 % % ~ ImEFEZD ~
ZThESH ~ ZThLLsh ~ ZHLS ~ ZThUSH ~ |
=FR



